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Ao g (ifRd)/Scientific Assistant (Physics) -Post No.1333

The Boltzman’s constant is;

a. 1.38x107% J/K b.1.38x1023L’K_ c. 6.02x10% J/K d 1380 K

IRA AIIAT T U, Ve R S1a18 A b 3797 1 Arey a1fdes Sal ..., EART &Y STl 8
At an absolute temperature T, the mean kinetic energy of a molecule in a 3 dimensional
space is given by

a. E=(1/2)kT b. E=kT c. E=(3/2) kT d. E=(5/2)kT

YT T HAE o ITH T THASAT &I ..o gl

The atmospheric pressure near the surface of the Earth is

a. 1013 Torr b. 900 Torr c. 100 Torr d. 760 Torr

ST o1 BIA3NTAT & est aereiarar aores wla-ar g
Which property distinguishes bosons from fermions?

a. WIHIT/Spin b.faega amawr/Electrical charge ;
c. geTATA/Mass A d. F#eR Fr Brar/Stability of nucleus
ST & ggarfa

[dentify the Boson.

a. geigeisl/Electron’ : b. TifAgTia/Positron

c. =gfes/Neutrino d. Tewr &wuT/Alpha particles

T2 wer1el &1 ufafaftca saareT aerees] oiH Hia-dr §7

Which wavelength range represents the visible light?

a. 400-700 nm b. 400-700 Angstrom
¢. 400-700 micon d. 400-700 millimeter

el ST ST ERER TRTRI-RIT S5 F8 T ATH & o
The phenomenon of bending of a lightwave round an obstacle is known as

a. ugdad/Reflection b. 3rgada/Refraction
C. gauT/Polarization d. @gda/Diffraction



8.

10.

11.

ARATY] FETe IR (CTHY) Fl..........ooooee & ¥ # uriena fohar Srar £

Atomic Mass Unit (amu) is defined as

a. U TSI GLHTIT & GedaTe &1 1/16 Bear
1/16 th of the mass of an Oxygen atom

b. U 3T IRATY] & gedAT o 1/40 fear
1/40 th of the mass of an Argon atom

c. U SATSEIST GRATY] & GeaHlTl T 1/14 fgear
1/14 th of the mass of a Nitrogen atom

d. U HTee GIA] & ged AT & 1/12 fEwr
1/12 th of the mass of a Carbon atom

The mass number of an element is

a. AT & Wiell g Fg AT S wer
The number of protons and neutrons in the nucleus
b. 38 AHF & WSIAT § =gl T Hedr
The number of protons and neutrons in its nucleus
C. HAISTHAT Soiagial sl T&dm
The number of valence electrons
d. W g gt & 3T

The ratio of protons to neutrons

................... & GETUT & $RUT U Udhe ToraT B

A rocket moves because of the conservation of

a. dad/Momentum b. 3=1/Energy
¢. GegHRI/ Mass d. =srolY H1ofrg §3e7/Spin angular momentum
TR 1 A e oo LESCECES

Special theory of relativity deals with
a. SScdraR Br¥er sve/Non-inertial frames of reference
b. s Fdey wa/Inertial frames of reference

C. TUH-HHY gedl/Space-time curvature
d. fafemanf@erenife)/Singularity



12. ag wier-a1 Ricyia § 31 98 aarar § @& Faeen gy garr aftla yonfaat & smaror &9

o

e o

FaeecH HEA & @E # RREEad Hifadr # gEecariad #ar g7

Which principle states that the behaviour of systems described by quantum mechanics
reproduces classical physics in the limit of large quantum numbers? -

913t H9gele fagera/Pauli’s exclusion principle

gIgaieiadr HiaRadar gyia/Heisenberg’s uncertainty principle

IR &1 9T f@eaia/Bohr’s complementarity principle

SR @1 Hofet fra#/Bohr’s correspondence principle

13. ve foreea # v Hod gaiaeia i a1l &1 gl la §HY 519 g8 AFd Soagiel & H1Y 36 Hoee

14.

15.

While describing the motion of a free electron in a crystal, when we neglect its collision
with another free electron, it is called

a. HFd gelaglel izaehest/Free electron approximation
b. eean ufader wiesest/Nearest neighbour approximation

c. a7 % afedses/Potential well approximation
d. Tadd gaagid dleaaes/Independent electron approximation
ATESAT- Wi AaH e Meard?

The Wiedemann-Franz law connects the

a. e gerd &1 g arershar aur faegd aradar

Thermal conductivity and electrical conductivity of a material
b. T uard & FeAla areear aur faftse arg

Thermal conductivity and specific heat of a material
c. TRy gerd & fagge araehar aur sy SEca

Electrical conductivity and thermal inertia of a material

d. & gerd & svelyg seeg aur [{fdse a

Thermal intertia and specific heat of a material

forelT forteer & uftacer gelergial &1 WerTdY GeTd T ................... !

The effective mass of a bound electron in a crystal is

a. Fd/Lero
b. 3@/ Infinity

gRfAd a2 t=eAs/Finite and positive
gRIAT g :omeA®/Finite and negative

o o



16.

1.7,

18.

19.

20.

LA T e Cranc R T | RO gl

The direction of the Poynting vector is

a. fdegd-gaehiar oier & Hewor # g o
Along the direction of the propagation of the electromagnetic wave
b, faegd-deehrg oiaT 1 faudid feem & :
Opposite to the direction of the propagation of the electromagnetic wave
c. facge &y afeurdfeena
Along the Electric field vector
d. ety ety giger & feen A
Along the magnetic field vector

Wmﬁmﬁ@»@mmﬁamm ................. el

The impedance offered to an electromagnetic wave in free space is

a. 200.5 Ohm b. 376.7 Ohm c.419.1 Ohm d, 623.2 Ohm
Wf&t@ga-ﬁa@aaﬁﬁﬁagﬁamgﬁwm ................... gl

In an electromagnetic wave, the electric and magnetic fields are

a. EHATFAS H/Always in phase

b, gHr faulla Far #/Always in antiphase

c. EHAT90 2l Fearr fBewrar w/Always at 90 degree phase difference
d. &R 45 Faf ser Bewrar R/Always at 45 degree phase difference

Th 5 Tlg fad R fRreell &1 oRe Taor el § AR Heired qad BIe a1l o HpfaId glal 1

A liquid surface behaves like a.stretched membrane and tends to contract to the smallest
possible area. This property is known as

a. WreIar/Viscosity b. §dg d=lrd/Surface tension
¢. 3ccargsmar/Buoyancy d. geedifers gqerei/Hydrostatic equilibrium

ITGHS IWAATe el 9 # I GATOIT Y Hedr (n) qur HogEt r gfa fee smade ger
WA &9 (n=ngexp(-z/H)) @ 1T (z) & B gecdr § | TRardre & AfHeaiioen Furis a

In a planet that hosts an atmosphere, the number (n) of gas atoms and molecules per unit
volume decreases exponentially (n=neexp(-z/H))with altitude (z). The characteristic
constant (H) of the exponential is known as

a. Thel Fars/Scale height b. =gfar ex/Lapse rate
c. 3igyeh F[uTish/Sheer coefficient d. ¢ &R/ Tapering rate
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. 5% Weaar ¥ gad Ueh 220 Ohm SR 1 37 #1547 87
hat is the colour code for a 220 Ohm resistor with 5% tolerance?
a. HaU Har &ren gaed/Orange Orange Black Gold
b. @7 &Ter Frer gogk/Red Red Black Gold
C. oot el 8T W/Red Read Brown Gold
d. et wrel 3 Toic/Red Red Brown Silver
. 67 iRTuTcA® gedh argsHTs ! g?
Which resistive component is iemperature sensitive?
a. & fFaFs/Rheostat b. RsrgaTdl/Potentiometer
c. drd giauys/Thermistor d. verrer-arashrg Ha/Photoconductive cell
. FiT-gT IRRNF TR STAST A 37987 T@AT 87
Which rectifier requires four diodes?
a. 3 fesearll/Half wave rectifier
b. qot-ader feseamr/Full wave rectifier
¢. ¥ fsesri/Bridge rectifier
d. dareear aqes/Voltage quadrupler
. T aeeaAa deaT #, E e B+dE % e it 3ot & agerer 3 3773t a1 Bt ¥

3reaTfae B
In Maxwell-Boltzmann distribution, the fraction of gas molecules having energy between
E and E+dE is proportional to

a. Emexp(-E/kT) ‘ b. Emexp(-E/kT)

c. E" d. E¥?exp(E/KT)

. ST SILT BN T IATILA 6T 1.5, AT dell & e vk Tt T & STeor AT ot &/ et
27

What happens to the Doppler broadening of a spectral line when the r.m.s. speeds of the
atoms in the light source increases?

a. g gierd 7t sgadl/Spectral width does not change
b. TFeHT TlsTS gear &/Spectral width increases

TUECHT ﬂ’f@‘é’ Tedr &/Spectral width decreases

TS #F uRadea & e ol SaeH wueialtd g
Overall spectrum shifts without changing the width

& @



26. Tt 37 3707 T ATET HFT UL ... W AT wEar gl

The mean free path of a gas molecule depends on

a. g wrade & wopt frdenr
The number of molecules pér unit volume
b. weee swEy uftzde/The collision cross section
c. BT I 3madat 7 3ot Fr Hear qu duee ey aiede
The number of molecules per unit volume and the collision cross section
d. amHEIHUEE gegA/Molecular mass

27. 1A A A AT TUT F1 & 1 Y W oA 87

Which one is the correct equivalence between heat and work?

a. A EH 412 ST AT & | HART & FHPE B

4.12 Jule of work is equivalent to 1 Calorie of heat.
b. & H4.20 ST g & | FA & GHwaT §

4.20 Jule of work is equivalent to 1 Calorie of heat.
c. FAH.12 T AT % | Felll & Gaverer &

8.12 Jule of work is equivalent to 1 Calorie of heat.
d. HEF0.12 S T & 1 HART & THFET 8

0.12 Jule of work is equi'{fé,lent to 1 Calorie of heat.

28. BF fagw
At the triple point
a. ged oH Srar 8/ Matter solidifies
b. gegga g smar §/Matter liquifies
c. #cd Fedurfad giar @/Matter sublimates
d. gou g e feutaat (o, &g J9ur 3g) # Regara grar &1

Matter exists in equilibrium in all the three states (solid, liquid and gas

29. 9% &1 U el gU g do9 & U AR 1Y I@ ¢ A IRHAT & 3THT BT &1 SHHAT FROT §

If we place our hand near a lighted electric bulb, it feels warm. This is because

a. dresr/Conduction b. "ag=a/Convection
¢. ffror/Radiation d. RBf$or gar ¥agsi/Radiation and convection



The third law of thermodynamics is all about

2. fATIET T ATIATH W U o7 Fecel &7 Tegidr )
The entropy of a perfect crystal at absolute zero temperature

b, I T AT & de o Fe e

The relation between work and heat

fERaY qUTTelr & Usgidl &l THYT & HIY 36HT

Evolution of entropy of a system with time

d. gegeTe @ "eero/Conservation of mass

[e]

31. ST yenreT ForelT hiel o Toid & Bl IoRdl & dl Wil & ... aore uRafda grargia ¢
When light passes through a glass slab, the property of light that changes is/are

a. 3gfa/Frequency
b. a¥weed/Wavelength
c. 3mgfr gur eReded/Both frequency and wavelength
d. ST AT & A[UTHA A IS GRE AT
There is no change in the property of the lightwave
32, ST AT 3T oo & fore feamam ST &1

A grating is used for

d.

el srgaoff weprer o fafdiest cardeat & aReTqoT
Dispersion of the different wavelengths of a polychromatic light

b. wehrer & &Y fFRuTgSit @l Sitgw/Combining two beams of light
C. WeRTYN o ek FRRUTTST ST FuTes &Te/Splitting a beam of light
d. gerer &l Peset/Blocking the light

33. HATUTAF ..ovevoveroe SECTECRCIIEEY

[sotopes are elements with

a.

o

AT GegH T T&dl, dfare et GeeTo] Heansi
Same mass number but different atomic numbers
Same atomic number but different mass numbers
A3 & =yelAl F AT T H Yt

Same ratio of protons is to neutrons in the nucleus
ITITH Fel FalecH T ST TATT &7

Same number of highest orbital quantum number



35;

39,

40.

41.

The anti particle of an electron is known as

a. WRIA/Protium b. Mf&giaA/Positron
c. wfd-geragls1/ anti-electron 7 d. ffema/tritium

UsA-aferT &7 & fore saverlt seaieafenar Sia-ar 82

Which interaction is responsible for the radioactive decay?

a. a%ca/Gravitation b. fdegd-geshra/Electromagnetic
¢. B A=di=afenar/Strong interaction d. gda s=ar=afmar/ Weak interaction

. 352 10 om Tur gegATeT 15 gram @ g et @il aitel &1 sigcary JreuT fanear 87

What is the moment of inertia of a hollow sphere with radius 10 cm and mass 15 gram?

a. 400 gram cm’ b. 600 gram cm” c. 1000 gram cm® d. 1200 gram cm?

. rsar 10 em Tur gegaART 15 gram @ o Tl 31 aitel & STgedar et fhae &

What is the moment of inertia of a solid sphere with radius 10 cm and mass 15 gram?

a. 400 gram cm® b. 600 gram cm” c. 1000 gram cm” d. 1200 gram cm?

. afg ey [E &Y arfaehT aur gHeg Sl 1 uiaf et e TaarVad g ar

It T and V represent the kinetic and potential energies of a body respectively, the

Hamiltonian is given by
a. T-V b. T+V e. TIV d. T*V

tTAees & yeiaH frar fBeuid & 3TaR, 7gd# 61 78 A .....co...... gl

According to Hamilton’s least action principle, the quantity that is minimized is

a. [(T-V)dt b. [(T+V)dt c. [(T/V)dt d.[(T=*V)dt

300 K 9% T&l 718 s 0rer & getaror RfRor Sl eeded 0wt ger 42

At what wavelength does the radiation from a black body, kept at 300 K, maximize?

a.9.6 x10° m b. 3.0x10%m ¢.3.0x10°m  d.9.6x10°m

T FIS FAFLIeT T FATCH TEIT v A G 91T & A TSl gT8grsler WRHATY] & ellgHe-Ueth
G & 3cgiad &ar srar gl

The Lyman-alpha line is emitted from a Hydrogen atom when an electron undergoes
relaxation from the principal quantum number

a. 23d/Mto 1adws b.38/to 1 d& c.38/to 2 TF d.43/Mo 1 a=



42.

44,

45.

46.

AT 6T TRIEROT T B

The Schroedinger wave equation is a

a. 3w R wEeRoNon-linear ditferential equation

b. & &8 wefeor/Linear differential equation

FHT WX fadia wH gEEur/Second order equation in time

e

d. T R 9UH HH FHE0T/First order equation in space

. T=0 K 9% {3l Soiergial gaRT 1@ Taeialell Jaritied Foil .............. gl

The maximum energy that an electron may possess at T=0 K is

a. =4 &g 3s/The zero point energy
b. foatd X Fa1/Vacuum level energy
HHAT ¥ F31/Fermi level energy

@

d. wHA TR FS T 1.5 7=1/1.5 times the Fermi level energy

.................. $r Teraar ¥ freed gl &1 aola fRar Srar g

The crystal planes are described with the help of
a. fAer srens/Miller indices .- b, &dT f&f@er aaca/Levi civita density
c. RGe-arargal/Direction cosines d. sAfAfT ST +Ife/Degree of symmetry

The types of cubic crystals are
a. T T UR-Sied/Simple and base centred
b. T, ITUR-hId, 3eh-ehiee T Heleh e
Simple, base centred, body centred and face centred
C. IS T d:higa/Simple and body centred

d. B, Ad:higd ol Beldh shigd

Simple, body centred and face centred

Y n-crey ATfea JY-ards & BAT T . gl

In an n-type doped semiconductor, the Fermi level is

a. Tl 88 R & 3718 faae/Closer to the conduction band edge
b. HISAT 48 FR & #78F @Fe/Closer to the valence band edge
& 93 3o & da/Exactly at the middle of the bandgap
Tl §8 & 3ex-37ex/Within the conduction band

B @

W



47. gahrg vergat & 3ufRAfd SERT HEHA $T 75 B

P

2

e

48.

49.

- The continuum assumption of fluid mechanics no longer holds when the

30,

k.

a.

The presence of magnetic monopoles is ruled out by
FeeR-faegferhr & fow a3y &1 a#A/Gauss’s law for electrostatics
gahcd & v a3y &1 [g#/Gauss’s law for magnetism

81 &1 gaA/Faraday’s law

HAermdd 1 13 Gied Ui &1 aRwa fags

Ampere’s circuital law with Maxwell’s addition

l<T-HT e Tg aTar & Toh ol 3T w1 Biserarer faeda #f3ars 3iex & 3mae gica &

Which law fmplies that the electric flux leaving a volume is proportional to the charge

density inside?

a. TPR-faggiasd & fav anzw & 3g5/Gauss’s law for electrostatics
b.  gasca & fAw sy & FA@H/Gauss’s law for magnetism

c. %e & fAgs/Faraday’s law

d. #Hegdd A5 Fied viaay &1 9ierT Faa

Ampere’s circuital law with Maxwell’s addition

a. 58« ¥&aT 937 ¢/Knudsen number is large
b. 9iza EaT 981 &/Prandtl number is large

c. Uisel H&AT @Y &/Prandtl number is small

d. Fged & ear wa p/Reynold’s number is unity

forel) aer 1 waTg-Y@r ¥ WaIsy It H geiayel HHAT ............. ganT afoTe fmar smar g

The transition from stremline to turbulent motion of a fluid is described by the

a. Wige §&ar/Prandtl number b. Etes T #&a1/Reynolds number
¢. 159+ @Ear/Knudsen number d. Irens g&ar/Grashof number

The 8085 is a ....microprocessor.

4 fae/bit b. 8 fae/bit c. 16 fe/bit d. 32 fere/bit
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54.

55.

56.

57

REgN G RS b (2 el

A zero level detector is a

a. #H#FEw/Limiter

b. Ry d@g==/Peak detector
WW%%@%&‘@H%ET—Q@R § o et
Comparator with a trip point referenced to the bias voltage
d. T & fu RERIT fgu-disee & goa gaf

Comparator with a trip point referenced to zero

fordY aftarsor vatie i st adeeadt @ sugter 5T sar 2
How many OPAMPs are used in an instrumentation amplifier?
a3 b. 4 ¢ 5 d. 6

©

An emitter follower circuit works in

a. 3HTfASS Iegeie HE9or/Common emitter configuration
b. 3HIESE 97 gEuv/Common base configuration
3HFfASE HamEr &uor/Common collector configuration

Z

d. safass ga @& 9or/Common.gate configuration

4ie aTer He &7 20 mm 3R 9T 27°C & &1 U Gt HEHIE ST # el 3707 glel T FHIGT §7
How many molecules are likely to be present in a cubic centimeter of volume if the
pressure is 20 mm of Hg and the temperature is 27°C?

a. 6.4x10" b. 6.4x10% c. 4.8x10" d.4.8x10%

QAT S TdE & FI 36,000 {1, & Fars W Bud e smg ar a . F FT H A g1 ST
A satellite at an altitude of 36,000 km above the Earth’s surface loses its heat by means of
a. fafeor/Radiation

b. Eaga1/Convection

¢. Trerst v fafercur/Conduction and radiation

d. dag+ vd f3fevor/Convection and radiation

e, TRl JuITell & forT H$1TeT ATShITCET shT ool TEAT 729 B A 3H GO 1 Ueg oY fopeelt &7
If the total number of possible microstates for a system of particles is 729, what is the
entropy of the system?

a. 3x107% J/K b.3x107% J/K c. 9x103 /K d. 6x102 J/K



58.

59.

60.

F o1 i dteE & 3iR grgsteres) & sifARuaar Weufa qur arelt & sradsiet e Qi &1 g

The particles that are indistinguishable and obey both Heisenberg’s uncertainty principle
and Pauli’s exclusion principle obey

a. TA-TEIS afegs!/Fermi-Dirac statistics

b. stE-3MSAEeET m/Bése~Einsteih statistics

c. Headd a’!mﬁ/ﬁdaﬁwell Boltzmann distribution
d. fae#FE §e=1/Sigmund distribution

a7 T S AT T oo T Y eT T &

Young’s double slit experiment manifests the

a. eI & vy yehfa/Corpuscular nature of light
b.  yeRrer s et vsHid/Wave nature of light
c. WIS T FHITTHTHY TUT 3T Al Fhia

Both corpuscular and wave nature of light
d. werer dT HfUTRE sr@ear/Undetermined state of light

ferelr Y2 aTarfonar sraa &1 374y 25 €e 8| fohdel Wad & are GRATOIHT 1 yRfSe Hear a7 1/8 Bear
faafea g smeem?

A radioactive element has a half life of 25 hours. After what time will 1/8 th of the initial
number of atoms disintegrate? ' )

a. 4 g¢/hours 49 fAse/minutes b. 30 =e¢/hours 41 A=te/minutes

- ¢. 0.5 Tse/minute d. 48 g¢/hours 1 fRsTe/minute

61.

I R Zofl E 8 g Vot shull &1 361 B (8 MeV o #), AT a118eR &1 790# aarar ¢ [ R

If R be the range of alpha particles with energy E (in few MeV range), Geiger's law tells
that R is proportional to:

8, b. B c. E? d. B3

. e yraTer & 1@ 90 U F19T T 1S | m §| WRT F 39T & 80% OTEE 39 W IY yA™T [

SATCTT & | 3 STOT Bl el U SetaTel FoelT YaTeh GaRT AT, oiReeH-TheHaes e & R,
An arrow measures 1 m in length at rest. It is launched at a relativistic velocity of 80% of

the velocity of light. What is the length of the arrow due to Lorentz-Fitzgerald
contraction as measured by an observer, to whom the arrow is in motion?

a. 0.60m b.1.66 m ¢c. 0.20m d. 5.0 m



63.

TERTRT & 39T 3 80% 9T & I TTAT Fe1aTel Uah FAFTe! 7 HAZ [GTHROT Heah fohdar §?

What is the time dilatation factor of a muon travelling with a velocity of 8G% that of the

- velocity of light?

65.

66.

a.

a. 0.60m b.1.66m &020Hm T A d. 5.0m

. R 391§ 100 Fo. o, i egdiy sher 126 @m%ﬁ%%wqmmil afe &Helr T

200 fF.#). G F9T IorT FT1ar & & Feftg 39t asr gei?

A satellite revolves round a planet at 100 km circular polar orbit with a period of 126
minutes. What will be the orbital pericd if the orbit is raised to 200 km?

a. 50 fAse/minutes b. 126 f@se/minutes

. 200 W/n1inutes d. 357 @ste/minutes

In general, the solution of the Schroediner wave equation is

a. aredias/Real

b. @&eafas/Imaginary

Sfee/Complex

EHRIT TN S1TaT & 31T S AT 31T Wfee Sifeer

Complex, with real part always greater than the magnitude of the imaginary part

e

e

gotdt @ wier-ar aRtafelat @ fafea su & Gyt sier @2

Which is the canonically conjugate pair of variables?

T JUT Wde/Space and momentum b. F&T aur ¥ret/Energy and space

C. U gu1 ¥HI/Space and time  ° d. gA aar §a91/Time and momentum

67.

SEhTTRISh BIeATe el Sceel B1ct & 16 [T &[AILHTU[ 370] oh IRHATI]

Optical phonons are generated when the atoms in a diatomic molecule

a. 357h Held-ohe sgol foar [audie feemaf & &id gid ¢
Vibrate in opposite directions, without shifting their centre of mass

b. 3% Gela-Fg # aRads & wry fFodig st 7 g aa €
Vibrate in opposite directions, with a shift of their centre of mass -

c. T ol ferm & &g gld §1/Vibrate in same direction

d. 37937 GeTATHT | T = G, HAGod [aETd=l & AT T ) feem # Sid g1d ¢
Vibrate in same direction with equal displacements, irrespective of thei. individual
Masses.



68.

69.

70.

71.
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3

UFH-A5 HSHIAT oo, T IS 1 it star g

The X band microwave represents the frequency range of

a. 1-2.GHz b. 2-4 GHz c. 4-8 GHz d. 8-12 GHz

Ty el rare) Y SToRTErehaT 4 & e oo T 61 STTR & &Y 3 WX 3TN v e e e 1
SRR

If the resistivity of a material is decreased by a factor of 4, the skin depth of an
electromagnetic wave incident on it :

a. 2% 9cH dF & gl ollal a/Decreases by a factor of 2
b. 4 gce d% oA gl oar e/Decreases by a factor of 4
4 & gk de ¢ ST g/Increases by a factor of 4

&

d. 2 % gceh d a8 1l e/Increases by a factor of 2

Hegea! ave & ATHA A
In case of a non-Newtonian fluid
a. QAT IR § AR Ty & W1y =761 seerd 1
The viscosity is well defined and does not vary with time
b, Y & T [ATH T JTeTarere feohdT ST & |
Newton’s law of viscosity is-obeyed
c. oA AR gT T A} R SR a} AR &
Viscosity depends on the sheer rate and sheer rate history
d. v Y off ofiR g¥ sfaere W AT w8l e, A o ex av anfaa wr g

Viscosity never depends on sheer rate history but depends on sheer rate

3591 1 mm & et UTell shT Toh o ! HATH TN & 1061%'@3?%13?3*4& A rdgar &1 Far

ST &7
How much work is done to break up a drop of water of radius 1 mm, into 10° numbers of
droplets of idential size? (Surface tension of water is 74 dyne/cm)

a. 120ergs b. 150 ergs c. 200 ergs d. 230 ergs
$oiH O fohg gere] T et a]uTieh Falers 87
Which material has the maximum Young’s modulus?
a. UoffAfeHA/Aluminium b. arar/Copper c. ois/Lead d. ergr/Iron

................. & AT & TIT TR a1 dehaiieh o 39TeT f&ar snar g

The four wire technique is employed to measure

a. 3T yforra/High resistance b. Tt ufawra/Low resistance
c. =g uriar/High capacitance d. 3=a Wekea/High inductance

4



P il %i&ﬁ@ﬁm%m%@rwmwuﬁrﬁaﬂm.mm%i

A typical ionization gauge is used to measure total pressure in the range of

a. 1000 mbar @/to 102 mbar & - b. 107 mbar ®/to 10™ mbar =
¢. 107 mbar to ¥/107 mbar T d. 10°° mbar to €/107'* mbar a&
75. X & €EU H cot(X) F TUH SYcUee oo gl
First derivative of cot(x) with respect to X is
a. tan{x) b. —tan(x) c. -cosec2(x) d. —cosec(x)cot(x)
0 =1 0
76. uRE (3 -3 8]%'[91?5[ .............. gl
4 -4 2
0 —-1.0
The value of the determinant [3 -3 8] is
4 —4 2
a. 26 : b. -26 c. 38 d. -38
77. g% gfara FHEHoT I Hel + V78 gl
The quadratic equation whose roots are =+ V7 is ?
(a) X2 +x-7=0 b. X2 +X+7=0 c. X2-7=0 d X2+7=0
- s tante V
78 IIm =g FHET s gl

The value of %m(} tanseis ?
a 1 b. 5 e, -l d. -5
79, FRENC, 5 =28, 120 B AT = einassisssii

IfnC,_,=28,n>0, thenn="2

a. 28 b. 7 : c. 8 d. 27
B LoinZonnusmdlle wimbwmios gl
[ sin2x cosx dx is
2 :;‘ (cosx)® + ¢ b. :BE(sinxf +c & %(cosx)-?’ +c d g(simc)3 +c
o 3 ok ok ok ok ook ok
1<



